

WORK ORDER

Contactor :- SUSHANT ENTERPRISES
Address :- FLAT NO.304 3rd FLOOR TRIBKESHWAR
 BUILDING, VITTHAL SANGAM SOCIETY, MARUTI
 3,241 MANDIR DHAURI PUNE
GST No :-
P.F. No :- NA
E.S.I.C. No :- NA
Mobile No : 9822520260

WO NO
46
WO Date

16/08/2024

Work Commencement date

16/08/2024

Work Completion date

14/11/2024

Last Revision
0
Project :-
TANGEWALA COLONY SRA PROJECT
GST No -
27ABZFA6373N1ZE
BUILDING COST

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.420 Sq.Ft	2.50	641.05	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.05		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	283.200 Sq.Ft	2.50	708.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	708.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	273.830 Sq.Ft	2.50	684.58	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	684.58		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	147.860 Sq.Ft	2.50	369.65	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	369.65		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	278.510 Sq.Ft	2.50	696.28	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	696.28		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	275.930 Sq.Ft	2.50	689.83	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	689.83		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-201 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-202 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-203 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-204 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-205 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-206 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-207 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-208 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-301 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-302 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-303 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-304 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-305 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-307 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-308 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-401 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-402 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-403 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-404 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-405 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-406 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-407 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-408 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-501 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-502 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-503 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-504 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-505 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-506 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-507 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-508 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-601 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-602 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-603 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-604 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-605 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-606 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-607 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-608 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-701 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-702 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-703 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-704 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-705 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-706 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-707 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-708 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-801 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-802 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-803 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-804 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-805 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-806 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-807 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	602.290 Sq.Ft	2.50	1,505.73	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	1,505.73		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-901 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-902 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-903 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-904 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-905 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-906 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-907 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-908 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1001 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1002 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1003 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1004 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1005 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1006 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1007 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1008 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1101 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1102 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1103 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1104 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1105 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1106 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1107 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1108 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1201 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1202 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1203 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1204 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1205 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1206 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1207 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1208 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1301 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1302 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1303 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1304 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1305 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1306 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1307 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	602.290 Sq.Ft	2.50	1,505.73	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	1,505.73		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1401 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1402 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1403 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1404 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1405 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1406 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1407 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1408 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1501 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1502 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1503 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1504 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1505 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1506 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1507 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1508 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1601 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1602 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1603 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1604 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1605 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1406 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1407 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1408 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1701 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1702 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1703 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1704 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1705 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1706 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1707 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	251.870 Sq.Ft	2.50	629.68	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	629.68		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1708 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	250.770 Sq.Ft	2.50	626.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	626.93		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1801 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	257.690 Sq.Ft	2.50	644.23	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	644.23		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1802 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	254.400 Sq.Ft	2.50	636.00	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	636.00		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1803 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.430 Sq.Ft	2.50	641.08	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.08		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1804 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	256.540 Sq.Ft	2.50	641.35	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	641.35		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1805 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	249.570 Sq.Ft	2.50	623.93	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	623.93		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1806 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-1807 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	602.290 Sq.Ft	2.50	1,505.73	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	1,505.73		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-306 Internal Flat Chemical Grouting					
		Chemical Grouting (L)	240.450 Sq.Ft	2.50	601.13	2.50%	18.00 % on ₹100.00 %
Installment							
Description		Labour Charges for Chemical Grouting work for A-Bldg Internal Flat area.		100.00%	601.13		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment							
Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
SAC Code -			SAC Desc -				
Specifications							
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment							
Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
SAC Code -			SAC Desc -				
Specifications							

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.420 Sq.Ft	2.00	512.84	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.84		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	283.200 Sq.Ft	2.00	566.40	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	566.40		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	273.830 Sq.Ft	2.00	547.66	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	547.66		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	147.860 Sq.Ft	2.00	295.72	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	295.72		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	278.510 Sq.Ft	2.00	557.02	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	557.02		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	275.930 Sq.Ft	2.00	551.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	551.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-201 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-202 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-203 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-204 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-205 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-206 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-207 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-208 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-301 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-302 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-303 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-304 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-305 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-306 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-307 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-308 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-401 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-402 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-403 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-404 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-405 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-406 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-407 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-408 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-501 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-502 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-503 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-504 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-505 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-506 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-507 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-508 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-601 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-602 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-603 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-604 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-605 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-606 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-607 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-608 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-701 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-702 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-703 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-704 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-705 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-706 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-707 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-708 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-801 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-802 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-803 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-804 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-805 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-806 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-807 Internal Flat Chemical Grouting					
		Ghadai work- BCP	602.290 Sq.Ft	2.00	1,204.58	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	1,204.58		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-901 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-902 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-903 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-904 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-905 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-906 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-907 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-908 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1001 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1002 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1003 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1004 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1005 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1006 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1007 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1008 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1101 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1102 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1103 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1104 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1105 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1106 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1107 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1108 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1201 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1202 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1203 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1204 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1205 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1206 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1207 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1208 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1301 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1302 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1303 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1304 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1305 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1306 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1307 Internal Flat Chemical Grouting					
		Ghadai work- BCP	602.290 Sq.Ft	2.00	1,204.58	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	1,204.58		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1401 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1402 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1403 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1404 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1405 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1406 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1407 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1408 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1501 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1502 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1503 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1504 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1505 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1506 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1507 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1508 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1601 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1602 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1603 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1604 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1605 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1406 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1407 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1408 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1701 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1702 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1703 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1704 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1705 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1706 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1707 Internal Flat Chemical Grouting					
		Ghadai work- BCP	251.870 Sq.Ft	2.00	503.74	0.00%	0.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	503.74		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1708 Internal Flat Chemical Grouting					
		Ghadai work- BCP	250.770 Sq.Ft	2.00	501.54	0.00%	0.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	501.54		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1801 Internal Flat Chemical Grouting					
		Ghadai work- BCP	257.690 Sq.Ft	2.00	515.38	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	515.38		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1802 Internal Flat Chemical Grouting					
		Ghadai work- BCP	254.400 Sq.Ft	2.00	508.80	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	508.80		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1803 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.430 Sq.Ft	2.00	512.86	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	512.86		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1804 Internal Flat Chemical Grouting					
		Ghadai work- BCP	256.540 Sq.Ft	2.00	513.08	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	513.08		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1805 Internal Flat Chemical Grouting					
		Ghadai work- BCP	249.570 Sq.Ft	2.00	499.14	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	499.14		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1806 Internal Flat Chemical Grouting					
		Ghadai work- BCP	240.450 Sq.Ft	2.00	480.90	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	480.90		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-1807 Internal Flat Chemical Grouting					
		Ghadai work- BCP	602.290 Sq.Ft	2.00	1,204.58	0.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for Ghadai Work with Hammer, Chisel, breaker etc to prepare plain floor surface, including cleaning,& shifting debris at one place including all lead lifts etc. with all tools & equipments required. for A-Bldg Internal Flat area.		100.00%	1,204.58		
		SAC Code - Specifications		SAC Desc -			
46.0	16/08/2024	A-101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
		SAC Code - Specifications		SAC Desc -			

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-201 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-202 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-203 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-204 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-205 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-206 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-207 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-208 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-301 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-302 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-303 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-304 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-305 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-306 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-307 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-308 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-401 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-402 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-403 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-404 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-405 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-406 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-407 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-408 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-501 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-502 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-503 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-504 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-505 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-506 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-507 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-508 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-601 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-602 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-603 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-604 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-605 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-606 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-607 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-608 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-701 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-702 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-703 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-704 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-705 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-706 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-707 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-708 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-801 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-802 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-803 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-804 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-805 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-806 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-901 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-902 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-903 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-904 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-905 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-906 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-907 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-908 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1001 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1002 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1003 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1004 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1005 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1006 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1007 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1008 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1101 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1102 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1103 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1104 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1105 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1106 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1107 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1108 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1201 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1202 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1203 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1204 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1205 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1206 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1207 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1208 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1301 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1302 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1303 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1304 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1305 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1306 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1401 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1402 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1403 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1404 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1405 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1406 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1407 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1408 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1501 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1502 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1503 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1504 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1505 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1506 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1507 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1508 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1601 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1602 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1603 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1604 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1605 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1406 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1407 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1408 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1701 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1702 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1703 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1704 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1705 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1706 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1707 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1708 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1801 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1802 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1803 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1804 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1805 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1806 Bore Packing & Perma Eazee Coat					
		5"Bore Packing with Perma Eazee Coat (L)	1.000 No.	300.00	300.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for 5 inch Bore Packing and Perma Eazee Coat including cleaning the surface applying Nito Bond SBR chemical to surface of pipe & Concrete, then plugging from bottom with RENDROC (FOSROC) or other approved chemical brand, filling the gap,etc		100.00%	300.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-201 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-202 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-203 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-204 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-205 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-206 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-207 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-208 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-301 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-302 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-303 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-304 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-305 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-306 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-307 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-308 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-401 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-402 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-403 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-404 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-405 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-406 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-407 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-408 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-501 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-502 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-503 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-504 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-505 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-506 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-507 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-508 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-601 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-602 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-603 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-604 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-605 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-606 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-607 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-608 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-701 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-702 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-703 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-704 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-705 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-706 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-707 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-708 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-801 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-802 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-803 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-804 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-805 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-806 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-901 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-902 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-903 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-904 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-905 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-906 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-907 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-908 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1001 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1002 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1003 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1004 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1005 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1006 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1007 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1008 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1101 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1102 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1103 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1104 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1105 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1106 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1107 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1108 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1201 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1202 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1203 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1204 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1205 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1206 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1207 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1208 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1301 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1302 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1303 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1304 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1305 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1306 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1401 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1402 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1403 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1404 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1405 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1406 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1407 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1408 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1501 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1502 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1503 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1504 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1505 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1506 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1507 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1508 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1601 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1602 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1603 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1604 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1605 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1406 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1407 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1408 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1701 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1702 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1703 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1704 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1705 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1706 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1707 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1708 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1801 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1802 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1803 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1804 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1805 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1806 WC,Bath Doors IPS Seal Pack					
		IPS Seal Pack	1.000 Flat	800.00	800.00	10.00%	0.00 % ₹100.00 %
Installment Description		Charges for Providing & Making IPS W/P Seal pack at joints of flat & Tearrace/ Toilet & Passages etc by applying / filling the paste of Cement & Nito Bond SBR chemical or any other Approved brand of chemical at the junction for A-Bldg.		100.00%	800.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	13.790 Sq.Ft	22.00	303.38	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	303.38		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	13.820 Sq.Ft	22.00	304.04	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	304.04		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	48.710 Sq.Ft	22.00	1,071.62	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	1,071.62		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	13.790 Sq.Ft	22.00	303.38	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	303.38		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	13.790 Sq.Ft	22.00	303.38	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	303.38		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-201 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-202 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-203 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-204 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-205 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-206 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-207 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-208 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-301 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-302 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-303 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-304 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-305 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-306 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-307 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-308 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-401 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-402 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-403 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-404 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-405 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-406 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-407 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-408 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-501 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-502 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-503 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-504 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-505 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-506 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-507 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-508 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-601 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-602 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-603 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-604 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-605 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-606 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-607 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-608 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-701 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-702 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-703 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-704 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-705 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-706 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-707 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-708 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-801 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-802 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-803 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-804 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-805 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-806 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-901 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-902 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-903 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-904 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-905 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-906 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-907 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-908 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1001 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1002 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1003 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1004 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1005 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1006 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1007 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1008 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1101 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1102 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1103 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1104 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1105 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1106 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1107 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1108 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1201 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1202 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1203 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1204 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1205 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1206 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1207 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1208 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1301 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1302 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1303 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1304 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1305 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1306 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1401 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1402 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1403 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1404 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1405 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1406 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1407 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1408 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1501 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1502 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1503 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1504 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1505 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1506 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1507 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1508 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1601 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1602 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1603 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1604 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1605 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1701 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1702 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1703 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1704 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1705 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1706 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1707 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1708 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1801 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.860 Sq.Ft	22.00	766.92	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	766.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1802 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.500 Sq.Ft	22.00	737.00	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	737.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1803 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	33.490 Sq.Ft	22.00	736.78	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	736.78		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1804 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1805 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.660 Sq.Ft	22.00	762.52	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.52		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1806 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1406 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.670 Sq.Ft	22.00	762.74	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	762.74		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1407 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	34.620 Sq.Ft	22.00	761.64	10.00%	0.00 % ₹100.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	761.64		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1408 WC,Bath Chemical W/P Work					
		Chemical W/P (L+M)	35.570 Sq.Ft	22.00	782.54	10.00%	0.00 %
Installment Description		Material Supply and Labour charges for Applying Chemical W/P work with CICO-Tapcrete (Fosroc/ Chowksy), with proper cleaning, scrubbing, ghadai, vacuum cleaning then chemical 2 coat for A-Bldg.		100.00%	782.54		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 WC,Bath IPS W/P Work					
		IPS W/P	13.790 Sq.Ft	16.00	220.64	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	220.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath IPS W/P Work					
		IPS W/P	13.820 Sq.Ft	16.00	221.12	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	221.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath IPS W/P Work					
		IPS W/P	48.710 Sq.Ft	16.00	779.36	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	779.36		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-101 WC,Bath IPS W/P Work					
		IPS W/P	13.790 Sq.Ft	16.00	220.64	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	220.64		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-101 WC,Bath IPS W/P Work					
		IPS W/P	13.790 Sq.Ft	16.00	220.64	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	220.64		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-201 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-202 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-203 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-204 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-205 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-206 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-207 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-208 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-301 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-302 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-303 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-304 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-305 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-306 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-307 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-308 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-401 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-402 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-403 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-404 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-405 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-406 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-407 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-408 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-501 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-502 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-503 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-504 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-505 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-506 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-507 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-508 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-601 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-602 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-603 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-604 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-605 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-606 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-607 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-608 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-701 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-702 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-703 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-704 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-705 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-706 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-707 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-708 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-801 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-802 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-803 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-804 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-805 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-806 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-901 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-902 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-903 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-904 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-905 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-906 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-907 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-908 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1001 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1002 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1003 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1004 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1005 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1006 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1007 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1008 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1101 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1102 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1103 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1104 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1105 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1106 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1107 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1108 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1201 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1202 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1203 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1204 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1205 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1206 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1207 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1208 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1301 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1302 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1303 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1304 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1305 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1306 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1401 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1402 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1403 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1404 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1405 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1406 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1407 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1408 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1501 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1502 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1503 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1504 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1505 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1506 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1507 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1508 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1601 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1602 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1603 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1604 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1605 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1406 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1407 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1408 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1701 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1702 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1703 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1704 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1705 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1706 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1707 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1708 WC,Bath IPS W/P Work					
		IPS W/P	35.570 Sq.Ft	16.00	569.12	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	569.12		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1801 WC,Bath IPS W/P Work					
		IPS W/P	34.860 Sq.Ft	16.00	557.76	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	557.76		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1802 WC,Bath IPS W/P Work					
		IPS W/P	33.500 Sq.Ft	16.00	536.00	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	536.00		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1803 WC,Bath IPS W/P Work					
		IPS W/P	33.490 Sq.Ft	16.00	535.84	10.00%	0.00 % ₹100.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	535.84		
SAC Code - Specifications			SAC Desc -				

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
46.0	16/08/2024	A-1804 WC,Bath IPS W/P Work					
		IPS W/P	34.620 Sq.Ft	16.00	553.92	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	553.92		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1805 WC,Bath IPS W/P Work					
		IPS W/P	34.660 Sq.Ft	16.00	554.56	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.56		
SAC Code - Specifications			SAC Desc -				
46.0	16/08/2024	A-1806 WC,Bath IPS W/P Work					
		IPS W/P	34.670 Sq.Ft	16.00	554.72	10.00%	0.00 %
Installment Description		Labour charges for IPS Waterproofing with in situ concrete, including laying with proper line level & slope, ghotai with dry cement & broom/brush finish etc. for A-Bldg.		100.00%	554.72		
SAC Code - Specifications			SAC Desc -				

	For Revision 0	For Work Order
Contract Amount (A)	494,732.52	494,732.52
Total VAT (B)	0.00	0.00
Total Service Tax (C)	0.00	0.00
Total GST (D)	16,482.42	16482.42
Total (A + B + C + D)	511,214.94	511,214.94

Remark :

Revision	WO Date	TASK	Qty	Rate	Amount	Ret %	GST
----------	---------	------	-----	------	--------	-------	-----

Terms & Conditions Agreed Upon:

1. Quality of work should not be sacrificed
2. Payment will be by A/c. Payee Cheque only.
3. TDS and Work tax as applicable will be deducted from each RA Bill respectiv
4. Contractor will be responsible for making payment to their labour force in time.
5. The specifications as described herin will be followed without any deviation unless otherwise specified in writing by the company
6. Contractor will be responsible for timely completion of the work.

Contractor

Estimated By

Estimate HOD

Prepared By

Checked By

Contracting Manager

For SUSHANT ENTERPRISES

Approved By
Technical Director

For

AATK CONSTRUCTIONS LLP

Approved By
Managing Director

For

AATK CONSTRUCTIONS LLP